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Calculus Practice: Techniques for Finding Antiderivatives 12b

Evaluate each indefinite integral. Use the provided substitution.

1) f2sec Xtan Xsec? (sec X) dx; u=sec X 2) flOcscz —2xsec’ (cot —2X) dx; u=cot—-2x
3) f6csc 3Xcot 3Xcsc? (csc 3X) dx; u=csc 3x 4) f—chcz xcsc? (cot X) dx; u=cot x
5) f—lOsin —2xsec? (cos —2X) dx; u=cos—2X 6) f—12sec 3Xxtan 3Xsec (sec 3X) dx; u=sec 3x
7) f—lZcos —4xtan (sin —4X) dx; u=sin—4x 8) '/‘SSec2 —Xcot (tan —X) dx; u=tan —x
9) f3sin 3Xcsc (cos 3X) dx; u=cos 3x 10) f4c0s —4xtan (sin —4X) dx; u=sin —4x
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8cos 2X

= f_ sec (sin 2X)

13) f3csc Xcot X
sin (csc X)

dx; u=sin 2x

dx; u=csc X

f 20csc? 4xsin (cot 4x)
15) |-
cos’ (cot 4X)

dx; u=cot4x

17) f8cs02 4xsin (cot 4X)

cos (cot 4X)

20csc S5Xxcot 5X
19)
cos (csc 5 X)
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dx; u=cot 4x

dx; u=csc 5x
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12) f—

16)[1

2 —_— —
18) f 4sec? —xcos (tan —x)

15¢csc? 5%

14) f
C

4sec? 4xcos (tan 4X)
sin’ (tan 4x)

dx; u=tan 4x

dx; u=cot 5x
sC (cot 5 X)

2csc —4xcot —4x

- dx; u=csc —4x
sin (csc —4X)

20) f—

-

Made

with

- dx; u=tan —X
Sin (tan —X)

16sin —4x
——— dx; u=-cos —4x
cos (cos —4x)

Infinite Calculus.
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Calculus Practice: Techniques for Finding Antiderivatives 12b

Evaluate each indefinite integral. Use the provided substitution.

1) f2sec Xtan Xsec? (sec X) dx; u=sec X

2tan (sec X) +C

3) f6csc 3Xcot 3Xcsc? (csc 3X) dx; u=csc 3x

2cot (csc 3X) +C

5) f—lOsin —2xsec? (cos —2X) dx; u=cos—2X

—5tan (cos —2X) +C

7) f—lZcos —4xtan (sin —4X) dx; u=sin—4x

3In |sec (sin —4X)‘ +C

9) f3sin 3Xcsc (cos 3X) dx; u=cos 3x

—In ‘csc (cos 3X) — cot (cos 3X)‘ +C
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2) flOcscz —2xsec’ (cot —2X) dx; u=cot—-2x

Stan (cot —2x) +C

4) f—chcz xcsc? (cot x) dx; u=cot X

—2cot (cot X) +C

6) f—12sec 3Xxtan 3Xsec (sec 3X) dx; u=sec 3x

—41n ‘sec (sec 3X) + tan (sec 3X)‘ +C

8) '/‘SSec2 —Xcot (tan —X) dx; u=tan —x

—51In ‘sin (tan —X)‘ +C

10) f4cos —4xtan (sin —4X) dx; u=sin —4x

—In ‘sec (sin —4X)| +C
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8cos 2X
11) I—de; U = sin 2X
sec (sm 2X)

—4sin (sin 2X) +C

3csc Xcot X
13) '/‘(28204de; U=csc X
sin (csc X)

3cot (csc X) +C

f 20csc? 4xsin (cot 4x)
15) |-
cos’ (cot 4X)

Ssec (cot 4X) +C

8csc? 4xsi t 4x
17) f esc” 4xsin {co )dx; U = cot 4x

cos (cot 4X)

—21In ‘sec (cot 4X)‘ +C

19) v/‘200sc SXcot 5X

dx; u=csc 5x
cos (csc SX)

—41n ‘sec (csc SX) + tan (csc SX)‘ +C
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dx; u=cot4x

4sec? 4xcos (tan 4x
12) f— sec” 4xcos (tan )dx;u=tan4x

sin’ (tan 4x)

csc (tan 4x) +C

15¢csc? 5x
14) V[de; U= cot 5x
csc (cot SX)

3cos (cot SX) +C

12¢csc —4xcot —4x
16)[ e8ec ~770 dx; u=csc—4x

sin (csc —4X)

3In ‘csc (csc —4X) — cot (csc —4x)‘ +C

4sec? —xcos (tan —x
18) f sec” ~xcos (tan —x) dx; u=tan —x

sin (tan —X)

—41n ‘sin (tan —X)‘ +C

16sin —4x
20) f—L dx; u=cos—4x
cos (cos —4x)

—41n ‘sec (cos —4X) + tan (cos —4x)‘ +C

-

M ade with Infinite Calculus.



